EARAZROREIERT — 2 N—XBISY —F 201268220 (£) 7E&ZHE4H

mﬂ' Yy XIN—=J C3 7Rk ‘ (XM&] W ‘ (R — | 4 (5) 14000 &
[AE4£] 1% :130,000 M  23%&:24,000”  33%&:9,000H ~ 4#%:6,000H” / 5&:0H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
— s e s KB = :30. -1-1- . — S#tEz (BHE)
1 6 —hRrEOH— 4 4 4 P ® 1(3_0)0 1-1-1-1 | 40.1 2 :1_618) i
RVWN—F v —L B:ZAPEOLEFZ aGkie]
5. = e th R ) :30. === . — BriE—A (BEE)
2lglg| TIRF¥ IV — 5 4 54.0 (17,:1970) ra2 | 396 ! f;) RS
R:YIRG4 ISR BEI - R AR
28 48 | AMUETT 1:30.5 4-4-4-3 [ 39.9| — 7 472 | EHSEHH (BHE)
3|55/ FNTT— 54.0 @ 1/2) @) | LB
LiZFpE—YI—IK B JKFyF e
- : i 4 5 | BWHERA 1:30.9 5-5-5-4 | 40.3| — 4 470 | ANEE (BHE)
4177 Za—F+vy0Ovy7 56.0 2 0 $RR H
R:Z2—-4>95>K B:h—7FX+vAvT BH Fi
-, - Ny BHBENT :31. —6-6- . — HOEEZ (%1
5 o | FAZ—%2THL # 5 oyl 1(311)1 6-6-6-6 | 39.5 5 (4_734) v 2
R:T7TaTar—71>9 B:7q4=— mtie]
RLE— .31 77— . — HBR (BHE)
6 4 F—rTA—HZX 4 Nt 1(33/14)3 7-7-7-7 | 39.5 8 ?g? =
R:T7RYAIVYERY B:¥%42/757— FRERESS
\ . pmm——— 3. 3-3- 9| - WAE (BHE)
Ayl lz7var—=rn it 5 ;_0 1(352>3 3-3-3-5 | 41.9 3 123;5 »#%Alﬂuf%
w1427 T BITILHT— USCIE %3
S= P BREFF : -8-8- — AHES (BHE)
8 3| TrT—LTS > 7 s 1.(354).1 8-8-8-8 | 41.7 6 (5:)42) it
R:77NTS5T B:UCTLy b J =Y Ty —L
SN SHEKX — - — — — $RRBEX (BHE)
x| 8|9 | 7 WIN—V A (B51) f_?) AR
Ri¥vTTL274—9 B:FAU-T5%v b A5
® I—F—@EBIERL
15l=2F= 6,8,1,5,7,2,4,3
Ao=5"= 6,8,1,5,7,2,4,3
T =35r= 6,8,1,5,7,2,4,3
41—F— 6,8,5,7,1,2,4,3
[ RN
-y 6 2400 | | 71 K 6-8 140 | | # &= 6-8 130 | | =R 5-6-8 1,070
# B 6 1004 5-6 670M B E 6-8 140M EE 6-8-5 2,340
8 1004 5-8 390M B H 6-8 300
5 320M

ABICOVWTRDTEEERROODE. TR LIV,



